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Topic 1 Trigonometric Ratios 3 Marks Questions

1.Given : sinf = 2 , find cos 6 + sin @ in terms of p and q.
q

o Watch Video Solution

2.1If cosecd = /5, find the value of

(i) 2 — sin? 0 — cos® 0

1 2
(i) 2 + _ cos 6
sin® 6 sin® 6



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sssoKamGwRIZ
https://dl.doubtnut.com/l/_tqoYAt4iCB71

| o Watch Video Solution

3.If sec A = /2, find the value of :

3cos> A + 5tan® A
4tan? A — sin® A

° Watch Video Solution

4.1n the given figure, ZC' = 90° and D is mid-point of AC. Find :

tan/CAB

tan/CDB
tan/ ABC

tan/DBC

(i)
(i)
&

o Watch Video Solution

5.Given : g tan A =p, find the value of :
psin A — gqcos A

psin A + gcos A
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| ° Watch Video Solution

6. In rectangle ABCD, diagonal BD = 26 cm and cotangent of angle

ABD = 1.5. Find the area and the perimeter of the rectangle ABCD.

° Watch Video Solution

7.1f 2sinz = /3, evaluate

(i) 4sin® z — 3sinz

(i) 3cos z — 4cos® x

° Watch Video Solution

1
8.If cosec A+sin A= 53 ,find the value of cosec’? A + sin® A.

° Watch Video Solution
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9.1f13sin A=12

Find sec A-tan A.

o Watch Video Solution

Topic 1 Trigonometric Ratios 4 Marks Questions

1. From the following figure, find the values of :

4

Ae—3—eD c

(i) cos A

(ii) cosec A

(iii) tan® A — sec® A
(iv) sin C

(v) sec C
1

sin? C

(vi) cot? C —
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° Watch Video Solution

5
13
sinA — cot A
2tan A

2.Given:cos A =

Evaluate : (i)

(ii) cot A +
CoS

o Watch Video Solution

1 ) 1
3. If cosAZE and sinB=— , find the value of

V2

: Here angles A and B from different right triangle

tanA — tan B
1+ tanAtan B

° Watch Video Solution

4.1n the following figure :
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AD 1 BC,AC =26,CD =10, BC = 42, /DAC =z and /B =y

Find the value of :

(i) cot x
(i 1 1
i —
siny  tan’y
... O 5
(iii) — + 8tany

COS Cos y

° Watch Video Solution

5.1n the given, figure triangle ABC is right angled at B. D is the foot
of the perpendicular from B to AC. Given that BC =3 cm and AB = 4

cm. Find :

(i) tanZDBC

(ii) sin/DBA

° Watch Video Solution
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6. In the figure, given below, ABC is an isosceles triangle with BC = 8
cm and AB =AC =5 cm. Find :

(i) sin B

(ii) tan C

(iii) sin®? B + cos? B

(iv) tan C — cot B

° Watch Video Solution

7.Given : 4sin@ = 3 cos 6, find the value of :
(i) sin @

(ii) cos 0

(iii) cot? @ — cosec?6

(iv) 4cos? 0 — 3sin’ 0 + 2

o Watch Video Solution
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8. Use the information given in the following figure to evaluate :

10
- + =
sinx siny

— 6coty

o Watch Video Solution

Topic 2 Trigonometric Ratios Of Standard Angles 3 Marks Questions

1. Find the value of :

) tan45° n sec60° B 5sin 90°
cosec 30° cot 45° 2cos 0°

(ii) 3sin® 30° + 2tan®60° — 5cot? 45

o Watch Video Solution
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2.() If secA = cosec A and0° < A < 90°, State the value of A.

(i) If tan@ = cot @ and 0° < 0 < 907, State the value of 6.

o Watch Video Solution

3.If \/3 = 1732, find (correct to two decimal places) the value of

each of the following :

2

N sin60° (i
(i) sin (ii) Tan30°

° Watch Video Solution

4.1f A = 30°, then Prove that :

2tan A
1+tan? A
(ii)2cos’ A — 1 =1—2sin* A

(i) sin2A4 = 2sinAcos A =

o Watch Video Solution
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5. Solve the following equations for A, if :

(i) sin34 = ?

(i) y/3cot 24 = 1

° Watch Video Solution

6.1fsin34A =1 and 0 < A < 90°.Find:

(i) sin A
(ii) cos 2A
1
(iii) tan? A —
cos? A

o Watch Video Solution

7.Solve for x :
e 3
(|)cos<§—|—10 ) - =

(ii) sin®? 60° + cos?(3z — 9°) = 1

o Watch Video Solution
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8.1f2cos(A + B) = 2sin(A — B) = 1, find the values of A and B.

o Watch Video Solution

5
9. Solve for x, where 0 < z < 90° sin® z + cos? 30° = 1

° Watch Video Solution

Topic 2 Trigonometric Ratios Of Standard Angles 4 Marks Questions

1. Prove that :

(i (tan60° + 1)2 14 cos30°
tan60° — 1 1 — cos 30°

(ii) 3cosec?60° — 2cot?30° + sec?45° = 0

o Watch Video Solution
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2.Prove that :
(i) sin60° = 2sin30° cos 30°

(ii) 4(sin* 30° + cos® 60°) — 3(cos® 45 — sin*90°) = 2

o Watch Video Solution

3. Evaluate:

cos3A — 2cos4A

,when A = 15°
sin3A + 2sin4A when
3sin3B + 2cos(2B + 5°)

i ,when B = 20°
) 5 cos3B —sm(2B — 10°) " "
o Watch Video Solution
4.1f A = 30°, show that :
1+ sin2A + cos 24

i = 2cos A

M sinA + cos A €08

(i cos® A — cos 34 n sin® A.—|— sin3A _ 3
cos A sin A

o Watch Video Solution
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5. Calculate the value of A, if :
(i) (tanA — 1). (cosec3A — 1) =0

(i) cos 3A. (2sin24 — 1) =0

o Watch Video Solution

6. From the given figure, find :

(i) cos z°

(i) z°
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(i) 1 1
. ta,n2xo sin 2x °

(iv) use tanz °, to find the value of y

° Watch Video Solution

7.Find the magnitude of angle A, if :
(i)2cos’ A —3cos A +1=10

(ii) 2tan3A cos 34 — tan34 + 1 = 2cos 3A

o Watch Video Solution

8.1f 4cos’z = 3 and z is an acute angle find the value of :
(i) x

(i) cos’z + cot’ x

(iii) cos 3x

(iv) sin 2x

o Watch Video Solution
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Topic 3 Solution Of Right Triangles Angles 3 Marks Questions

1. Find lengths of diagonals AC and BD. Given AB = 60 cm and

/ZBAD = 60°.

D C

° Watch Video Solution



https://dl.doubtnut.com/l/_3pN1e9UOaryr
https://dl.doubtnut.com/l/_k3IxMCQcpw8p

2. In trapezium ABCD, as shown, AB||DC, AD = DC = BC = 20 cm and
ZA = 60° Find :
Lrj(i) length of AB

(ii) distance between AB and DC

° Watch Video Solution

3. In right-angle triangle ABC, /B = 90°. Find the magnitude of
angle A. If :
(i) AB is 4/3 times at BC

(i) BC is 4/3 times of AB

o Watch Video Solution

4. A ladder is placed against a vertical tower. If the ladder makes an

angle of 30° with the ground and reached upto a height of 15 m of
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the tower, find the length of the ladder.

o Watch Video Solution

5 3
5.Iftanz° = 13 tany = 1 and AB = 48 m. Find the length of CD.

° Watch Video Solution

6.1n the given triangle ABC,AD | BC.AB =13 cm,BD =5 cm, DC =4

cm. Find the value of :

&
(i) AD

(i) tanx ° + cot y°

o Watch Video Solution

Topic 3 Solution Of Right Triangles Angles 4 Marks Questions
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1. Find AB.

o Watch Video Solution

2.In the given figure, AB and EC are parallel to each other. Sides AD
and BC are 2 cm each and are perpendicular to AB.

&

Given that ZAED = 60° and ZACD = 45° calculate:

(i) AB

(ii) AC

(iii) AE

o Watch Video Solution
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3.Find :

(i) BC
(ii) AD

(i1i) AC

o Watch Video Solution

4. A kite is attached to a 100 m long string. Find the greatest height
reached by the kite when its string makes an angle of 60° with the

travel round.

o Watch Video Solution
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5. Evaluate x and y from the figure given

° Watch Video Solution

Topic 4 Complementary Angles 3 Marks Questions

1. Evaluate :

cos bH° n cot 35°
sin35° tanb5°

(ii) sin42°sin48° — cos 42° cos 48°

o Watch Video Solution
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2. Express each of the following in terms of angles

0° and 45°
(i) sin59° + tan63°
(ii) cosec 68° + cot 72°

(iii) cos 74° + sec67°

between

° Watch Video Solution

3. For triangle ABC, show that :

i sinAtE _ o C
1) S1n 9 —COS2
iy tan B C oA
11) tan 5 = CO D)

o Watch Video Solution

4, Evaluate :

(i) 3cos 80° cosec 10° + 2sin59°sec31°
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iy 5704 089 gin? 30°
sin 20 sin 31

(iii) cosec(65° + A) — sec(25° — A)

° Watch Video Solution

5. With out using tables, evaluate :

sin 31°sec59° + cot 59° cot 31°

4tan 60°sec30° +
8sin?30° — tan245°

° Watch Video Solution

6. using trigonometric tables evaluate the following :

cot 30° cosec 30° 2cos 0° 2 o
— + — — — — + cos” 45
sec 30 tan4b sin 30

o Watch Video Solution

7. Evaluate without using trigonometric tables :

tan20°tan40°tan 50° tan 70°
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o Watch Video Solution

Topic 4 Complementary Angles 4 Marks Questions

1. Evaluate :

(i) cos? 25° — sin® 65° — tan?45°

: 2 2
(i) sin 77 n Cf)s T\ 9 cos? 45°
cos 13 sin 13

o Watch Video Solution

2.Show that :
(i) tan10°tan15°tan 75" tan80° = 1

(i) sin42°sec48° + cos 42° cosec 48° = 2

o Watch Video Solution
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3. A triangle ABC is right angled at B. Find the value of

secA.sinC — tan A. tanC
sin B

° Watch Video Solution

4. In each case given below, find the value of angle A where
0° <A <90°
(i) sin(90° — 3A). cosecd2® =1

(i) cos(90° — A).sec77° =1

o Watch Video Solution
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